Proboblh’rv ond statistics 4 10

EXCELYEARS 9 & 10 ADVANCED

UNIT 6: Review of statistics

Ch.72,7.1,p. 93

Question1  Fifty families were surveyed to find how many children each family has and the

following set of data was obtained.
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QuesTiON2  For the frequency distribution given above, calculate:

a themean b themode

¢ therange ~ —-v oo o e d themedian

e the relative frequency




XCELYEARS 9 & 10 ADVANCED MATHS

Probability and statistics

UNIT 7: Measures of spread, standard deviation

QuestTion1  Use your calculator to find the mean and standard deviation, correct to one decimal

place, for the following sets of scores. Also find the range of each set of scores.

2,4,8,9,10 b 1,234,567
7 11,12, 13, 14, 15, 16, 17, 18 | d 35,46, 48, 40,36, 41, 42, 37
83,7,39588693623 | £ 5,8 10,15, 15,10, 8,9, 18, 20, 18, 15, 10, 15

Score |5(7(9|11]13}15
Frequency (85|78 | 3 | 6

Score |10[20|30|40{50|60}70
Frequency | 3141312 |5 (2|3

QuEesTIoN2  Five students sat for a mathematics test and a science test. Their marks are given.

below.
Science 56 60 69 59 65
Mathematics 70 75 86 82 80

Find the mean and standard deviation for each set of scores.

Michael scored 69 in science and 86 in mathematics. Which was the better average mark?

If Matthew scored 65 in science and 80 in mathematics, in which subject did Matthew perform
better compared with the class average?

Use your calculator to find the standard deviation and the mean for each test.

Test A 8 0 13 13 14 15 16 18 16 17

Test B 3 1 15 15 9 10 7 16 16 19

For which test would the result 16 be better compared with the class average?
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EXCEL YEARS 9 & 10 ADVANCED W

Probability and statisfics s mmna o

UNIT 8: Measures of spread, interquartile range

Questiond  For the following set of scores, 2, 3,3, 4,5,7,9, 9,10, 11, 12, 12, find:
a the 1st quartile (Q1) b  the 2nd quartile (Q2) — (the median)

¢ the 3rd quartile (Q3) d the interquartile range

QuesTioN2  Complete the cumulative frequency table and draw a cumulative frequency histogr
from the completed table.

Score 5515657 |58 5960616263

Frequency | 1 |2 |4 6|7 112 8|53
Cumuiative
frequency

From the graph find:

a themedian

b the lower quartile

¢ the 80th percentile

d the interquartile range

e themode

QuesTioN3  Find the interquartile range of the following sets of scores.
a 523689638

b 8, 10,12,10,12, 11, 13,12, 10, 12, 10, 12, 10, 11, 13, 14,13, 12,10, 11




UNIT 9: TOPIC TEST

SECTION

Probability and statistics

Instructions for. SECTION1 - You have 15 minutes to answer Section 1

+ Each question is worth 2 marks

+  Attempt ALL questions

* Calculators are NOT to be used

* Filtin only ONE CIRCLE for each question

10

From a pack of 52 cards, one card is drawn at random. Find the probability of
drawing a diamond.

® 3 5 © 3 ® 5
Ina Single throw of one die, find the probability of throwing an odd number,
® § 3 © ;3 ® 3
In a single throw of two dice, find the probability of throwing a double.
® 5 2 © 1 ® 3
For the set of scores, 5, 8,3, 1,9, 5, 6; 7, find the range.
@ 6 7 © s . @ 9
* For the set of scores, 10, 20,’50, 10, 60, what is the difference between the mean and
the mode? '
@& 10 | 20 © 30 ® 40
The test marks of 10 students are 59,5,7,3,7,8,7,9,7. What is the modal mark?
® 6 7 © s ® ¢
For the following set of scores, 3, 1,4, 6, 5,5, 7, 3, 4,5,4,5,7, the mode is
@ 6 4.538 © s ® 4
Find the range of the set of scores 8, 9, 12, 7, 9,11,8,9,5,13,7,9.
@& 7 9 © 4 D 3
The mediar_l of the numbers 6, 4, 9, 7, 4,2,8 is
@ 8 6 © s D 4

The mean of the numbers 8, 10 and x is the same as the mean of the numbers 6,8, 10
and 12. Find the value of x.

@ 6 ® 9 © 10 @ 12

Total marks ac_:hieved for SECTION 1

20




UNIT 9: TOPIC TEST
Probability and stafistics

SECTION

Instructions for SECTION 2 ‘
' Each question is worth 2 marks

Attempt ALL questions
Calculators may be used

- - - -

You have 20 minutes to answer ALL of Section 2

Questions

Abag contains 3 yellow, 2 blue and 4 white balls. If a ball is drawn
at random, find the probability that it is:

1 yellow.
2 Dblue.
3 not white.

" A coin is tossed three times and the results noted. Use a tree
diagram to find the probability of:

4 three tails.
5 two tails and one head in any order.

6 atleast one tail.

Apair of dice is rolled simultaneously. Find the probability of getting:

7 adouble five.

8 any double.

9  ascore greater than 9.
40  at least one six on the uppermost face of a die.
11 the sum of the two numbers rolled being 11.

412 two even numbers.

Use your calculator to find the mean and standard deviation,
correct to one decimal place, for the following sets of scores.

13 8,9,6,9,7,6,6
14 12,14,9,6,1,12
15 25,33,26, 56, 44, 41, 33,25
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Answers L
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EXCEL ESSENTIAL SKILLS: YEAR 10 ADVANCED MATHS REVISION AND EXAM WORKEOOK

Pace 47 1 a ©=66,5D=3.07, range=8 b ¥=4,5D= 3, range=6 ¢ ¥=13.67,8D=320,range=11 d ¥= 40.63, SD = 4.36, range = -
12,57, SD =439, range =15 g x =9.59,SD=3.4l,range= 10 h x=39.1,8D=19.75, range = 60

e ¥=571,8D=243range=7 £ ¥= _
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2 a Science: T =61.8,8D =4.62; Mathematics: ¥ = 78.6,5D = 5.57 b Science
The result is better for Test B. L
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